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Acct 2301

Summer II 2008

Chapter 2 Quiz

1. At a $30 selling price, Babbs Company has sales of $12,000, variable manufacturing costs of $3,000, fixed manufacturing costs of $2,000, variable selling and administrative costs of $1,000 and fixed selling and administrative costs of $1,000. What is the company's contribution margin per unit? 

a. $22.50 

b. $20.00 

c. $17.50 

d. $12.50

e. None of the above.
2.  Select the correct statement from the following. 

a. A fixed cost structure offers less risk (i.e., less earnings volatility) and higher opportunity for profitability than does a variable cost structure.

b. A variable cost structure offers less risk and higher opportunity for profitability than does a fixed cost structure.

c. A fixed cost structure offers greater risk but higher opportunity for profitability than does a variable cost structure.

d. A variable cost structure offers greater risk but higher opportunity for profitability than does a fixed cost structure.

e. Cost structure and risk are independent concepts

3.  An increase in the level of activity will have the following effects on variable cost per unit and fixed cost per unit:

       Variable Cost Per Unit   

Fixed Cost Per Unit

        ———————
  
———————

     a. 
Increase             

Decrease

     b. 
Remains constant     

Remains constant

     c. 
Decrease            

Remains constant

     d. 
Remains constant     

Decrease

     e. 
Increase


Increase

4.  At the high level of activity in November, 7,000 machine hours were run and power costs were $8,000. In April, a month of low activity, 2,000 machine hours were run and power costs amounted to $4,000.  Using the high-low method, the estimated fixed cost element of power costs is
     a. $8,000.

     b. $4,000.

     c. $1,143.

     d. $5,600.

     e. None of the above.
5.  The following income statement is provided for Lolly Company in 2007: 

	Sales revenue (2,500 units * $20 per unit)
	 $     50,000 

	Cost of goods sold (variable; 2,500 units * $8 per unit)
	       (20,000)

	Cost of goods sold (fixed)
	         (4,000)

	Gross Margin
	 $     26,000 

	Administrative salaries
	         (6,000)

	Depreciation
	         (4,000)

	Supplies (2,500 units * $2 per unit)
	         (5,000)

	Net Income
	 $     11,000 



What amount was the company's contribution margin? 
a. $11,000
b. $25,000
c. $26,000
d. $30,000

e. None of the above
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